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1 2 3 4 5 & 7 8 9 10
n 12 13 14 15 16 17 18 9 20
Number Words
n 22 23 24 25 26 27 28 29 30 1 one 11 eleven
31 32 33 34 35 36 37 38 39 40 2 two 12 twelve
41 42 43 44 45 46 47 4B 49 50 3 three 13 thirteen
4 four 14 fourteen
51 52 53 54 55 B& 57 58 59 &0
5 five 15 fifteen
&1 62 63 64 65 66 &7 68 &9 7O 6 six 16 sixteen
nov2 33 74 75 76 7T T TP B0 7 seven 17 | seventeen
Bl B4 B 85 87 B8 B89 90 8 eight 18 eighteen
9 nine 19 nineteen
¥ 92 93 94 95 94 97 g8 99 100
10 ten 20 twenty
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take away %Iu":

osinl Lo The commutative law means
| difference [ & alto";‘:fm B numbers can be added or
R AR A A R R TR NS BB multiplied in any order without
. Y .
Mmtﬂm g ﬂw { affecting the answer.
lots of i divide % Forexomple: 2xd x Sisthe saomeas 5 x4 x 2
ala) greepe share
s:':e:f : goes in to OR Wihen adding 26 + 30 + 4, the
| [
multiply spiit between § 30 e 4 1o g 2 4.+ 30 50 ot
product distribute W 20 2 M 26 20d & Firs!
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6+3 3+6
Example:
Subfraction and .o
divigion are not 5339 -4+
H ae
commut ative . i
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Year 2 Fractions Length
3338 * There are 10 millimeters
3 (mm) in1
centimeter (cm).
share
* There are 100 centimeters
T in 1 meter (m)
R (cm) in X &
Yoof 12«3
Yofl6-a
% of 205 *There are 1000 meters (m)
Kof 287 in 1 kilometer (km).
%of32-8
Wof36=9
% of 40 = 10
L |
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i Measurement :
il Weight/Mass SRS S ot Position and
These arrows show These arrows show . .
gmm hllogram clockwise direction anticlockwise direction. d | rect ion
I Whole turn
Half turn
light heavy Quarter turn
mass  weigh e toamon || e of o ok o Three quarter turn
=25

=5

Left and Right

The hand that makes an ‘L'
shape is your left hand.
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Millilitres
Wt ot w8 surmiaring Cylinder
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How to solve
problems

the problem
carefully.

60 seconds = 1 minute

1000ml = 1l

Litres
W cm s & g o esaes
lergey capeninas

BeE

We mumnery thas o litres
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We wiie this m L

1000ml = 11

60 minutes = 1 hour

Time

the
question. Show
your working out.

24 hours = 1 doy
7 days = 1 week

365 days = 1 year

52 weeks = 1 year

your work.
Use the inverse
operation(s).
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